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Attempt any two questions.
All questions carry equal marks.
Answer may be written either in English or Hindi
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' QL. An army unit wants to depute security personnels at a stretch of 100 km. based on the

following rules:
o One personnel each at starting and ending point;
o One personnel each corresponding to each prime number between 0 km. and 100
km.;
o Whenever the distance between two positions (personnels) is 06 km. or more, put
one more personnel exactly at the centre.
Based on this information, answer the following:
a) How many personnels are required to deploy along the stretch?
b) What is the longest distance between two personnels?

¢) What is the shortest distance between two personnels? {6 + 2 + 2 marks)
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Q2. Following data was collected in Delhi related to Education of Children with Special Needs

‘District 7 FNot18 school| 1n school | Total-
Central 366 1316 682
East 1141 1019 2160
New Delhi 45 201 246
North 683 568 1251
North East 1820 923 2743
North West A | 1065 829 1884
North West B | 1351 : 935 2286
South 1543 1929 13472
South West A | 387 596 983
South West B | 732 052 1684
West A 1102 248 1350
5 WestB 11228 1790 12018
Tola ET[E256 T 30,759 ]
Write a 100 - 150 words report based on the information presented in the given table. You may
also support your report by any other suitable representation of the data, (10 marks)
Wﬁﬁvﬁt@mﬁmmﬁaﬁﬁm*%ﬁﬁmmsﬁmm:
forar - 1 R o= e qe il
Heg 366 ) 316 682
odf 1141 1019 2160
5 Red 45 20 246
Il . 683 568 1251
Il gt 1820 923 2743
FR ol & 1085 829 1884
I ofvest @ 1351 935 2286
GRS 1543 - 1929 3472
| &Ry aftwsh & 387 596 983
’ gietor oftast @ 732 952 1684
qieaTH & 1102 248 1350
afeas @ 1228 790 2018
Ty 11,463 9,296 20759
2.




m@wa@w#ﬁm@qw‘*mw100-150ersa’rﬁvmﬁq1éam#|mm
memﬁmmu@ﬁr%mwﬁmm%r

10 3%

Q3. Smita is going to find out about the television viewing habits of students in her class. She
designed three questions:

o What is your gender? M D
o How old are you?

e How much television do you watch?
Her teacher is not satisfied with these questions. Help Smita to prepare a better questionnaire.
: (10 marks)
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Q4. Here is a list of probable questions for statistical investigation. For each one, suggest a data
source that you may use for your investigation. Classify the data source chosen by you as
primary or secondary data. Justify your choice.
i.  How does the size of a country’s population relate to it’s per capita income?

ii. Do some newspapers use longer words than other newspapers?

iii.  Are people’s elbow-to —wrist measurements the same as their foot lengths?

iv. Do you earn more working in a clothes shop than in a food shop?

v.  Isclassical music more popular than pop music? (2 x 5 =10 marks)
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Q5. Consider the foliowing sets of statements:

(1)~ My younger brother has just sneezed. I will not leave the house, some misfortune may
happen. ' '

(i)  Ihave studied well for my exams. [ will pass the exams with flying colours.
(i)  Dinesh Karthik has scored a century. India will win the match.

(iv)  China has a larger population than India. It is economically better than India.
. Explain whether the two statements in each set depend upon each other or not.

(2.5 x 4 = 10 marks)
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